forg™ ies AaT TN faeneTsr areamueh udiel

BPSC (TRE) 3.0 Re-Exam

gTHes fa=meas

(T 1-5 )
3T Wl TLraIT

(Rt fermT e Srggie Sf Ue STggferd ST shearur faramm)

HIHT 34
Hiceg YUY U4 UfeRed 9

HA<R FAR FESH
Tl ferory wfufe
AHEHT HTATAT

12, =€ oF, JATRIS-211002
£= 9415650134
Email : yctap12@gmail.com
website : www.yctbooks.com/www.yctfastbook.com/www.yctbooksprime.com
© All Rights Reserved with Publisher

PEAMERICIIE
THH T T8 THRIE A< HAR 789 5 E:Book by APP YCT BOOKS, ¥ Afsd i@,
arg .3t ufscrshy . fo1., 12, = oF, YRS & fore sy fRa

39 & 1 T B B GEqEeh T Y9 51 qUl grEeE o T @
ftse off fpelt 3 & forw svveh gemar we weAT QIR s 2|
=7 oft faae & Rufa ¥ ~Rie &9 T—FR™™ grml




ferm-g=ht

-1

W TSR Tie |aT ST (HelT 1 | 5 ) Taemerer STeamueh Uall UTETeh M ..eeeeeeereenees 3-4
B fER Tie Qar ATENT 3reaTdeh THa, (TRE 3.0, FRE) 2024 T99-131-1

(RET 1 | 5 k) WA TeTaH

AT WiEd T TIT-UT (THAT TITT 1 15.03.2024) ceveveeerreerrneessneessneecsseecssnecssseesnne 5-20
B TSR &ie WaT ST Whet 3MeATe: U, (TRE 2.0) 2023 W9-U3-1

(RT 1 | 5 deh) WHT TeTTF

ST TR TT TIT-TST (THEAT T 1 14.12.2023) cveeerrrerrneecsneessneecsssecssseesseenns 21-48
W TSR e WaT STENT Whet 3TeaTdeh UHe, 2023 Y9-ua-1

(T 1 | 5 deh) WHT TeTTF

ST Aigd &1 UIT-UT (UHTaIT Tofer @ 24.08.2023 Shift-I) [Male] coueeerrvreecssreeecssnaene 49-72
W TER olieh aT STEINT WheT STeATde: UHHET, 2023 J9-Us-1

(ReT 1 | 5 k) TATHT AT

ST Aigd &1 WIA-UT (UHaaT Tofer @ 24.08.2023 Shift-IT) [Female].eeeeessseeecssseeecsnne 73-96
HT-2
Bl T TAT-1 cuueeeecrererrecnessessesssessessessessessessessessesssssssssessessessessessessassasssssasssesaesses 5-11
ST AIET T & AT TT-1aueeeererneeerernesnesessessessesessessessesassessessessssessessesassess 12-20
Bl SERT T2 cuecvreceeereerneeesessessesessessessessssessessessssessessessssssessesssssssessesssnessesssasss 21-26
AT TET T : UTFEH T2 eerererrereerersesseseesessessesessessessesssessessessssssessesseseas 27-35
Bl DT T3 cueeceererecrernessessessesssessessessessessessessssssssssssessessessessessessssssssssssessessoss 36-42
ST AIET T & AT WT-3eueeeererreeeresresneessessessesessessessesssssssessessesessessessssess 43-50
Bl DT TG cuueeeerererrerressessessesssessssssssessessessesssssssssessessessessessessessssssssssssessessoss 51-57
AT TRET T ¢ UTFEH TT-Gaererererrererrereeseesessessesessessessesssessessessessssessessesees 58-66
Bl SO =5 cueeeeceeecrerneeesessessesessessessessssessessesssessessesssssssessessssessessessanessesssesns 67-73
ST AIET T & AT WT=5.eeererreeererrerneessessessesessessessessssessessessesessessessssess 74-82
Bl DTS TT0 cueeeerererressessessessssseessessessessessessessesssssssssessessessessessessasssssssssessessoss 83-88
AT TRET T ¢ UTFEH TZT=0ucuverrereereerernerneseesessessesessessessesssessessessssssessessesees 89-97
Bl SO TE=7 cueeeereerernenenssessessessesessessesssssssessessesssssssessessssssessesssssssessesssesne 98-104
ST AIEA B & U TE=T curerereererrernesessessessesessessessessssessessesssssssessessssesss 105-113
Bl TTET WT-8 cueeeerreeerrrrernessessessessssssssssssssssssessessessessessessesssssssssssssssesssssessons 114-120
TATEAT WA T 2 T TE-8uererrerrerrenrenensensesssessessessessessessessssssssssssessessons 121-129
Bl SERT T cueceeceeeeerrerneessessessesessessessesssssssessessesessessessesessessessessssessessessans 130-136
ST AET T & U TT=9 ueueeeeererrerrereenessessesessessessessssessessesssssssessessssesss 137-145
Bl TTEET AT-10 ccuueeeeeererernesnessessesseesessssssssesssessessessessessessasssssssssssssssesssssessoss 146-151
STEAT FIET T 2 UFRET TE-10ueereeeeereereneesensensaessessessessessessesssssassssssssassaons 152-160




Torg™ &ies 9aT ST
T{eAT | U UG ashA
(e 1 9 5 )
e T wE ST SR U STIRR S e e, fER % simid w1 & 5 7%

forener steaTuel B fafad oden (aegfe) & foe oden 9w=mr @ ugasa-
1. forem formT & of=fa e 1 © 5 T & e v & fore:-

fowg | woAia | wftemwt | & gfeh
T Iy | 3w

oTeT 150 0230%2 | 150 | o yrerfiren faremer™ (e 1 ¥ 5) & fow

(7 | - 130, o 7 TF A 4N F &N A A1 T A

T 9T - 11-120 1

T o WWI-1 - W (3N & fow SEh wd

eI et /3 /e 9 F FeRie § |
T 9 H 3K B § FF 30 i
stferared g

o WIT-11- |HT ALTA- & foIT Mfiss
U,  AHEE & Gdef, |
T T STEe, e S gaieRe
Ittt 21

o SWh fowg WA & WSHHH SCERT/
NCERT ¥ Haf¥d g, fehd 9 &R
IHiieaR 7g feifd =Aae owedl & eTeis
¥ grm

o UM eI U4 & UIGAHH SCERT H
frefRa =Fem s7edl & 3Teliss | 8|
(MCQ) 3Tefid g |

o Tod W *h fIT. RS 3 (Negative
Marking):l%of@"ﬂl




2. STfad SfT Td STfad SHSfa wearoT fam & 3fdnd Far 1 ¥ 5 & fommed sreams & fog -

fererr gt Wt | ufen e | e AN

e I@fr | ik
o 150 02.30 52 | 150 | o 71z w3 & 9T # @ AY- WO- [ W G-
(3@ | 9 - 1-30, 1
w | 911120 o M- I - 9 (3 & fow sfsh wd
= gl w1 & FeRie I 3H 4w H
e 3TEdis H9 ¥ HH 30 Ffeerd Sifar grm

o WIM- I WM 31edq - & forw wrafies
o, A amd olE, e
T T AR, T SR gEtEReT
e 21

o IWh fawag WA & UGIHA SCERT/
NCERT § Waftrd g, <ifehd 3Ha &
IHieaR &g feifa =gmaw o=t & oTes
# g

o MR 49 UF & UIGAHH SCERT ¥
Haferd g, afh e R IHGER 7Y
frefRa =Aa" oTedl o Teis § g

o fiflgd wlien awfe W  EfaswdE
(MCQ) 3TeRa & |

e e ST & flU FuTcHh 31 (Negative
Marking) &l g1




forgT ies 9aT ST STeaTdeh usialT, 2024

T 3AeT99 (TRE 3.0) =&
TIA-USA-1 (e 1 | 5 )

AT Aigd T Yo1-U
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Part-1 : 9197 (Language)
S (English)
Directions (Q. Nos. E-1 to E-5) : Read the passage
given below and answer the questions that follow :
Once upon a time, there lived a small young and

sweet girl. She was not clean at all. One fine night, in her
home, she decided to eat a banana because she was very
hungry. While she was eating banana, she completed it in
three minutes and threw the banana peel down on the
floor and went to sleep. Next morning she completely
forgot about the peel and slipped as soon as her feet
walked over it. She realized how important it is to keep
house neat and clean.
1. What lesson did the girl learn in the last?

(a) Cleanliness is not required

(b) Banana is not good for health

(c) Garbage is to be put in dustbin

(d) More than one of the above

(e) None of the above
Ans. (¢) : The girl learnt a lesson that garbage is to be
put in dustbin otherwise it would be harmful from
different point-of-view. She casually ignored this fact
and as the result of that fell down next morning.
Hence, option (c) s correct.

2. The girl is
(a) adult (b) adolescent (c) teenage
(d) More then one of the above
(e) None of the above
Ans. (b) : According to the given passage the girl is

depicted as a small and young but it is not clearly
shown in the passage how old she is exactly. Here, the
passage gives a clue that she may be adolescent.
Hence, option (B) is correct.
3. She ate the banana during
(a) day (b) night
(d) More than one of the above
(e) None of the above
Ans. (b) : According to the given passage the girl ate
the banana during night because she was hungry.
Hence, Option (b) is correct

(c) evening

4. The girl was scolded by
(a) Father (b) Mother (c) Sister
(d) More than one of the above
(e) None of the above
Ans. (e) : According to the story of the given passage,

the girl was not scolded by anyone else.
Hence, option (e) is correct.

5. After eating banana the girl went to
(a) Play (b) Study (c) Sleep
(d) More than one of the above
(e) None of the above
Ans. (¢) : After eating banana, the girl went to sleep
because the was hungry and tired.
Hence, Option (c) is correct.
Direction (Q. Nos. E-6 and E-7) : Fill in the
blanks with suitable articles like 'a', 'an' and 'the' :
6. If you go there in hour, you will be able
to catch the train.
(a) a (b) an
(d) More than one of the above
(e) None of the above
Ans. (b) : In the given question, article 'an' will be used
because the pronunciation of the word 'hour' starts with
vowel sound. Hence, Option (b) is correct.

(c) the

7. I had lovely time in Paris.
(a) a (b) an (c) the
(d) More then one of the above
(e) None of the above
Ans. (¢) : Here, in the given question, article 'the' is

specifying 'lovely time in Paris'. Article 'the' is used to
refer to specific or particular nouns.
Hence, option (c) is correct.

8. If 22nd June is Monday, what will be 29th
June?
(a) Sunday (b) Monday
(d) More than one of the above
(e) None of the above

Ans. (b) : According to the given question if 22nd June
is Monday then 29th June will possess Monday.
Hence, option (b) is correct.

&<t (Hindi)
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(c) 37.5 (d) 3T+ § ¥ wF ¥
(¢) Sud & ¥ F
Ans. (¢) : & TS TS H T A B folg T
29,33, 34, 41, 47, 69
n=6(99)
n)_e n o
- o (2)EIT ITQ’+(2+1)8|T‘TQ’
2
i (g)ﬁﬁ q?{+(g+1jafq'c{
2
_ 39T 9G+48 U8 34441 75
2 2 2
=375
37. @ WE-ANNT HEARN @ UAERA 117 ¥
IRt LCM 89T =TT
(a) 1 (b)117
(¢) 3% HCF & aUax (d)39dad & § & ¥ e
(e) I | § FIg Tl

Ans. (b) : TE-3THTT AN~ & G&E 5% o9 15
IfTe ded @ AW € (1 Biew), HE-3T ST
T g 21

2 TE-3TT TS B OHEA = 117 = 13 x 9
HCF = 1

(13 3 9) & LCM = 117

TS B & ek Terdt § 63 & ST 83 T o

39.
W W HRUT T HaT & 3{Ea 3ieh 7 A =g
TN KT W BT Skt HET §
(a) 73 (b) 40
(c) 20 (d) 3 § ¥ TF ¥ 1
() S9FH 7 ¥ HE T

Ans. (b) : f&am 28—

e 3iE =63

Teld 3ih = 83

X

Tl o HROT 37l 7 3 = 83 — 63 = 20
T Fell H BET # 9@ x 8

TEAER,
x 39 # g = ot i 7 gf

37 FET § BET H G 40 B

xxl:20
2
x=40

40.

-qﬁ 5(x+3) — (25)(3x—4)

AxHMATE
1 13
(a)? (b) r
© 5 (d) T & § U § e
(c) ST § ¥ i &

Ans. (a) : 5579 = (25

Tl A T B R,

5(x+3) — 52 (B3x—4)
5(x+3) — (5)2 (3x—-4)
5(x+3) — 56x -8

X+3=6x-8
11 = 5x
1

=
s afE LCM = 117 7S
38. dfe 41. T 1,210 & A, B, C & sitor faartad femam e
1 1 1 AR A:B=5:43RB:C=9: 108N CH
§+E+;=4 ﬁl?fl'dT%l
ar Eilsiy (a) T 400 (b) T 475
XTWW '5 (c) T 340 (d) 3 § ¥ TF ¥ 31
(@) — b)) — (¢) SWF H § &g T
19 18
24 . Ans. (a) :
(c) m (d) 3 § ¥ TF ¥ 1 A:B=5:4
(e)@'ﬂﬂﬁﬁ@aﬁé:@ B:C=9:10
A A:B:C=45:36:40
Ans. (a) : f&am 8- 20 40
11 1 CH N U= —— x1210= —x1210
—t—t—=4 45+36+40 121
32 x =40 x 10 =% 400
243 1 _, 5.1, 42. 5% dfich WTENUT T UT (9997 & T8 TRt
6 x 6 x AT W God 40% TF g § fohe=T wHT
- 1,5 1. B . _6 w?
s |x=0 () st (d) ST F ¥ U ¥ o
19 (e) 30 | ¥ HIE Ll
9 YCT
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Ans. (c) : f&aT 2 Ans. (e) 1y’ =Ty + 12
R =5% =y’ —4y-3y+12
P=3p S Yy-H-30-H=>G-Hy-3)
Ao py 140 I fged () W& IW |
100 46. IrEE®AT 2,3,7,9,7,1,1,9,1, 6,9 T TgAE &
A=P+SI (a) 2 (b) 1
p 140 _ o Px5xT (c) 9 (d) 3= 4 9 % ¥ 1
100 100 (¢) 39 | § &g T
L 140P _ Ans. (d) : [ T3 ke S 9gas 1 W 9 I 2
100x= = =100P+ 5PT . P (d) 21
140 = 100 + 5T Note— &3 & T § Ha¥ f¥E IR T arell T&T,
5T = 140 — 100 g Heard 2|
5T =40 47. TAfaEd § ¥ 98 ®A-91 9 § 99 5N
- T=gad fergr ufter § we STt &Y 9 U et &7
43. T UAT & AFGA T U 8:27 ¥l Ik TG (a) T (b) SReX
SIheT hT AJUTT & (c) 3FHIR (d) ST & ¥ s ¥
(a) 2:3 (b) 4:9 (c) ST § ¥ & &
(c) 12:9 (d) 39 4 ¥ GF ¥ ARE | [Ans. (¢) : S CE qA & [oHD gW Reg §
(¢) SWdH # ¥ F a%ﬁar@ﬁumaﬁww%ﬁgaw TrRR §
Ans. (b) : T¥ITIR AT S 8, THOT THE AW S 81 feadHier &
L I B foRd ¥AR # UAT @ A Sk GRATT H
Mo_a_ 8 qro # fpe ST @ SR SRe i et @i frga Sl
vV, a3 27 i g H HE A 2
ad 23 a, 2 48. THARI o =R i WeRrefta wiehan et
2 ¥ a3 H W ferereh SR et 87
) (a) FATERONT W& (b) AATERONT STIFd
mzanﬂ'gaﬁwf“ilz (ORUEEEEE] ()3 § ¥ TF ¥ 1
4az (c) ST H § i T
a Y (2) _ Ans. (b) : THAR % =@ I THRNT AhaT AN
(azj(gj =49 ST % FT ST 31 TH I IR A § R @
# qeft § uer R HW e gan @ 8, 59§ g
4. x=3 30T y=—2 FefieuT 4px - 3y = 12 T T (W)gﬁ@méﬁmqﬁ%'
WIS &, T p B W & 49. U W ¥ WH =g T glaersees €,
(@) 0 (b) 2 et & firema 6 gern |, w=iifen
1 W ; (a)‘ﬁ‘v‘f@ﬂ?qﬂﬁmiﬁmé
© 3 @ T § s (b) UrECHT I FT pAES
(c) ST § ¥ & & (c) e & g & =17 T 4 3 & soht
Ans. (c) : far 7o g, (d) ST ¥ § T ¥ e
4px—3y=12 (e) 3T | ¥ HIE LI
X =379l y =2 T § TWH T Ans. (b) : T T § TR 90 91 gfaEsees 8, <id
=  4px3-3x2-=12 % firamg & qa § it qbend (I ) S
= 12p+6=12 w%wﬁwﬁmﬁaﬁwﬁﬂaﬁ %,
= 12p=6 FEAN 2| G- i e, dfan, =td
6 3@1@ wﬁaﬁm@maﬁw:@ 3%
= p mww%ﬁ%ﬁ@-ﬁ@?ﬁﬁ,w,m
1 W TS
p=— 50. 3TIA SUUT §RT SATAT 3T Urerfsreat
. 2 . (a) ffem &9 § arefass g afg &g s 2
45,y =Ty + 12 QUGS ¥ (b) BT AR B &
(@ y+3)(y+4) () y*+3)(y-4 ¢) B 9l g @
(©) (y=3) (y+4) (&) STF F § 0% § e fdiwﬁ@@@m
(c) 3WF | ¥ & Tl (e) IWF | ¥ & el
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Ans. () : 37aqd IUUT R AN g S A @
Refft % STOR W AR, A AR I @ w2
S9-afE g oa W W @ @ I8 ffe steae o
W 3T qdT IS S| IS e H RAfT etada g
F WHG qA g & o= & A g faffa sfaferr
MR H ae1, e i el g 8, T Refy # ador
&1 gfefer gdor & R a9ar 21 39 YR AT (o) WE
I B

51. frefafad ¥ ¥ -9 TWheRe et o

iftrer 2
(a) TR s/=a  (b) Afers oA
(c) 9ia (d) 3% § ¥ TF ¥ 1
(¢) 3w # § 1 T
Ans. (¢) : T THHIERS vpeTi & wnfie fepam Sm 2
Eﬂqﬁéﬁ%wmaﬁtw%mﬁmmw
21 7 ot 3R @R <Al & Ffha & 3@ 81 gHS
SART-UH AT e 7 e s 2
52. 39 @ oftwuwun, frefaiad § 9 e
ia Sl ST il &2
(a) & (b) w9l
(c) Weif® tfre  (d) 3= § 9 % ¥ 1
(¢) 3w # § 1 T
Ans. (a) : ﬁ@ﬁéﬂﬁmaﬁwwaﬁqm%
T T S SETOT SR B SR S
3R s F YR W 3T 3 & I GrA=Aehd AR
&1 39 TR fohed (a) TE W G

53. SSTHIIRIUT Ufshan i1 Schy T &7
(a) HHIE (b) feafem
(c) TS (d) 3= 4 § & ¥ 31

(¢) SR & ¥/ i A
Ans. (c) : 37 37 &R I Jfafshar 1 Sardi-iehor Sfshar
% ®7 F S S @1 ST SR H Sk
gEeifiiag 21 39 oifufhanr & Sae ort 3R W 21
RO F U GfeAW TEeEERe (NaOH) F @14
TESIFARS o (HC/) & fufspan @ wifsay sags
(Nacg(w)a%@aﬁmw%maﬁwﬁw
ST 21
54. Torfefaa B | -9 fgdiae ugue &2

(a) CO, (b) HF

(c) CO (d) 3= ¥ 9 % ¥ 31

(¢) SR & ¥ i
Ans. (e) : 9 S efies A 3y

azﬁq@;aﬂawﬁjgﬁwaﬁ%

foded S FTA B I WEU-PAN, S
THE® g4, S aﬁIwaﬂfsﬁrﬁlﬁwGﬁ
I ¥ e agred § g9 B § Mo g9 shearnd
21 SEEAU-CO,, CO, HF 9 HCs 3 21 39 WK
W(e)mﬁﬁﬁé?ﬁwﬁm
55. SLUAT, T ShI9-|T 9T WS it ToHT <l &7

(a) HHAEM (b) IRTAT,
(c) S (d) Swf & § U ¥ e
(C)Wﬁ@m:@

Ans. (¢) : DNA &1 98 9N S MEH & fouw SHsi w5
FAT 8, 98 S 81 S T% A SR e T
S 2, fg hact VIRhIeh WIgshiehd § 2@ S ehell
2 TS ARE § EET 20,000 SF B 21 ST
faferT ceroll % forq s fohan <am 21 S9-T8 o Afen
o a stf@ 1 1 3|
56. Tfe ohiS STARY AT=-gIi WTult o ferelt age o
gt €, A 39 R hEd B2
(a) TR SR (b) HehrAeh AR
(c) S AR (d) 3T H ° UF ¥ A
(c) ST § ¥ FE &
Ans. (a) : A% FE Sl S B A gEa oot o feed
T H AN ¢ A S W SR A S I e
S 31 SR FH-Eft gfeRe Ty Se-are,
JIRET, T 3w gele % aed & g, S
e T FHROT A 8 e ant § i Sl
HROT S & |
57. Trmafefaa & & wiF-41 sl s 7@ 87

(a) 3sdT (b) S
(c) ST (d) 3wdF & ¥ ¥ e
(e) SF | ¥ FE Tl

Ans. (b) : 3TSTET a1 3Tifok I8 TRRYE &3 4 AN
qoft foffar SRt ot wafifd Fwar @ Sia-amddr, g S,
I 9 q9f gl Sifas s Tt Sifad <l ¥ gefa
2 S-S, Ies, IUMI iR fedhdeR Il 21 3w
WW(b)H’ﬁﬁ'{él

58. 9T YGUWUT o NS WE: Tefaad § 9 fhe

U T AT &7

(a) Tl W (b) T W

(c) ufel W (d) 3% § ¥ TF ¥ 1
(¢) SWIH & § HFE T

Ans. (d) : 9 TSI Gt Bl AN ®F T g
H 21 A TR IS S @ifeRe gard SFehrer
gy & a1 ere €, UG @ ufEl ot Gelt i aed
§ Ud 8 3 39 fgom # 0 oA 21 sHH IrerE
el aut o fadt s/ srawiia g ot & SEf 9
gﬁwﬁmm%wﬁwr{%ﬁwﬁwm)

|
59.

AT BT YaTg feafetlRad o ¥ TR gt &7
(a) T (b) forgd <o

(c) feregaema (d) U # § T ¥ A
() STH & ¥ #E T

Ans. (¢) : TAFH H TR T 90 FEd 2
YN FOHE ST 1 JaE & oI 3eiagH hed &1 &
YaTe S N gl % A & faudd A 2l

60. Trafefea & & amuferes o & fou @&t
FeRTE (WTSTeh) AT :

(a) fBam/ad.  (b) a0 fodm

(c) fan/em #ex (d) s § ¥ & ¥ it
(¢) ST & & < T
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Ans. (c) : 3RS s 1 fheft verd % o= e g
F 9 F IO $ w9 ¥ uRafm feam mar 21 dfE
MR S G H|ﬂ|¢1|$rm1q|d%|2rs’1@53mm%ﬁ'—r
o S s AT T A 81 39 YA e (o) ||
T § ¥ FE ) IW 2|

Ans. (¢) : @T“-’laﬁ[ﬁt—ﬂ H’Eﬂﬁﬁ FHIUR F H
w%w%amﬂfr%@aﬁ wﬁsrgr@m&fma?\qa‘rﬁﬁ

L e Fom, g e, W
mﬁﬁ?@?ﬁw@ﬁéaﬁw%
66.

WA ! Hod oielt (g 8 hia-91 §7

61.
O Tt et T gH TSAT /T AT &

(a) ScdTE (b) 3TFETT
(c) HeTeRuT (d) 3= ¥ 9 % ¥ 31
(c) ST § ¥ i &

gfe g0 YT Sl GA a9 | W, a1 SHeh! [T

(a) T T (b) T B TR

(c) 3f=u 7l T8 (d) 3WE § § UE ¥ 1

(e) 34w # ¥ FE I
Ans. (¢) : TRA &I o sl =8 T8 S M Tl 21
Wwﬁms%ﬁﬁa%wﬁwﬁmgﬁ%m&
¥ T & 9R A % o S T @1 59l de

Ans. (a) : 75 qerd &1 o A 99 S/ § A9 EE
§ qRafia FET KT a1 I Fel S ¢ | IERl-
I & FR F G a9 § W@, TV IHHN AGT S T
W &, a1 T8 "l SchTed Sed 7

Tl o, BRAT § ey # R o Sl 2
67. T 3T HcAchdl HTITH i &7
(a) TH. . diard (b) . &. sfarsa

62.

EIERCGIEY

(a) U ORELES

ORIER: (d) 3 § ¥ TF ¥ 1
(e) I | § FIg Tl

wW o A0 W 3T RAfq § @A arelt ang

(c) & & 3  (d) W § ¥ T ¥ e
(e) I | § HIg Tl
Ans. (b) : 9Rd & T Techal I T (F.%.)
e 1 e 5 T &1 A 1964 & B HaT B
W&NWWWW(CVC)ﬁW#nﬁ%
68. AT UTHUIE guiehich, 2023 H WA Rl shiH-9T

Ans. (a) : PR & a9 W 59 Rfq & w4 @l &g 90
21 MR F frEd R FEd 81 @ S R fard @
gaas 21 A U g @ S W $ a9 | Fd
e § urElt S €)1 Sifeaw s sifufRareie o @
oo 38 frdt & G | war S 2

= 37
(a) 1443 (b) 1623t
(c) 1243t (d) 35 § ¥ TF ¥ 1
(e) 3‘?}[3\‘[ ¥ 9 FE 7@
Ans. (e) : m&mm%@mw

63.

I TET

(a) 2025 T (b) 2027 T

(c) 2030 T (d) 3= ¥ 9 % ¥ 31
() S9FH # 9 #E T

TR THN A 3TEA IS AT st THATIT

(HPI) 2023 ® 193 39 § 9T & T 80af 411 <
S 2024 # (HPI) 91T 859 M W fags T 388
3 6 Fer (BT, S, Teelt, WA, S SR ) 2
69. TcoTeRT TRIUTE WHaI-2Id §

(a) fafee fagma @ (b) Feert &

Ans. (b) : 3CA A ASHT (3T IA) H 25 faHeR,
2019ﬁ§6mwénwﬁww%wﬁ
T 3R v 9% # AriEd 50 ;50 F § 56 fow T
6000 FS H o eed fRar 71 21 9 AT H
guaEfy a¥ 2020 ¥ 2025 % o g afes wemd
FIfers-19 & HRT ST S THIAER TR a8 2027 Th
FHY &= T

() MEF @ H ()3 § ¥ & U
(¢) SW H ¥ T
Ans. (¢) : Afcchl TNNE UH AT JAAET g1 S
FTE SR AT A Fo F § 1 T AR
mmaﬁmmm@m@w
g fohar T 7
70. TR\ ofeh g0 URAE hfSe H3H Sk oht STFRATRW

64.
AT TRER et okt oot ferarm 7
(a) 37,312 31 75 (b) 3ME.3ME. 2 faeedt
(c) 3TR.3TE.A. &8 (d) ST # § % ¥ 3
() S9AF # § # T

fre v denfet g 3 deer o

A a1 futar fema o €7
(a) Z.0H. S (b) TE.S1.37E. S
(c) UM 1 H51 5% (d) STdH ¥ ¥ T T 1
(¢) 3T A § FIE Tl
Ans. (a) : S[7 2023 § FACE SH/FEE GF A6
Reesres) 3 Hfee W%W&Wﬁmél

Ans. (a) : SME3MEA. (IIT) AK o donf@r § 379
wean feesh oReR @iem &1 fofar fovar @1 s9d 50 =T
BET 320 WA DE S 5699 e @ 1T el
9 g H oraer e foaeht o o wel (VW ord
3rfre) # et St o & 2

71.  ShIF-WT 91 Ufd 98 W9l R & (1T ' hi &g
HU' AT HTAT &7
(a) =T (b) AR
OEIEE (d) 3= ¥ ¥ % ¥ 31

65. ‘T warT v’ et feRam S §
(a) 999 H (b) TSEIH H
(c) FH-FR H  (d) 3 § ¥ & ¥ 1
(e) I | § HIg Tl

(e) STYF W ¥ FE T

Ans. (¢) : SIS 37 T 99 37 A § @YW o &
T W o5 ST SIRE B 81 T eeRt @Rl @
A @ qser srEferEr § fae @ e #d @ it
THR F 3% ARIERT FF 8T H AT B ST G |
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72. TSt ST g’ St e fonw A g3 eft?

(a) 1998 (b) 1996

(c) 1997 (d) 3= ¥ ¥ TF ¥ 31

() SYFH 7 ¥ HE T

Ans. (¢) : ST & ol T 1997 ¥

W%ﬁﬁlﬂ%ﬁ%ﬂmaﬁgﬁuwgﬁ

73. TR it o9 s (@& @ W)
fifer, 2022 & 3HER, U= Yk Wt TRt AT

TR R 3T fear stmam?
(a) 5 @@ (b) 10 @@
(c) 20 @G (d)’wﬁaﬁﬁﬁ@ﬁm

(¢) ST & & HI< T
Ans. (b) : fER s 9w NdeT (5& @ =)
Afd-2022 & ER, W< & I 10 AG TR TF
3TEH fean ST foer § a= 3 99 Ium | ey &
% 9% SMAl 9 MevEl B T59 TR X 10 HUS &
1 SIS Bf L
74, UAT TN o I=id fehad faeam=aer fHateq-
g &7
(a) 16 (b) 12
(c) 14 (d) 3= ¥ 9 % ¥ 31
(¢) ST & ¥ H< T
Ans. (¢) : 9T O & 3faild 14 faemae et e
3l 2 & Gudg &7 o 8| fRR faue g & # adue
¥ 243 foafeq & § o faum ofve & g o=
Ter 75 81 foer faum wer & 7 1937 # b @ an
75. R 7 T ASd 5 o 9L HET Tt &6
feram Sur feram ar
(a) HTST (b) T TH. T ¥
() I. . ¥ (d) 3% § ¥ % ¥ 1
() STH & ¥ #IE T
Ans. (a) : TR0 3 U TSEQ $5 & 919 e yomedt &
faR #er ¥ 3Ra 21 TEe SYemEl IYafyE wifkhaAT,
TsauTet F frgfe, Tated Eed % HAReR SR
zeife IR 2
76. ST THT 1 HEEH o o (10 ATavaeh <AdH
g
(a) 183 (b) 25ad
(c) 30 a9 (d) 3% § ¥ TF ¥ 1
(¢) ST H ¥ H< T
Ans. (¢) : T HfIE & TR 84 & 3TUR, &g 41
fth TGS H TG I & ATG a9 SN v SHHGaR bt
R HA-H-FH 30 T B Ak ol T F T A
F =g oy @ 25 Ay g

77. ToRE AREE fReW 7 2023 W 3R TR Sirar?
(a) < Uerthe feemd (b) 3ffet 32 sfiey
(c) BTl W (d)3TF | § wF ¥ e
(e) I | § HIg Tl
Ans. (a) : wﬁﬁg—;ﬁ; W %ﬂ%ﬁ@q%é FTERL
TEHRI (2023 HEZLE o
ﬁwn%mﬁ%mﬁwﬁwﬁaﬁm@wﬁgﬁ

HARARSAR fhedt & M1 AIe. A1 & 9% AR Hi=1
P 37are el 21

78. WG T RFE-HT AT IEIVAAT o IYAT
=t givera e 72
(a) 3BT 15 (b) =T 16
(c) 3T 17 (d) 3= § 4 & ¥ 31
(¢) 3w # § 1 T
Ans. (¢) : YRAF TfEEgE & 17 STYAA &
e F gl w4 R 15 o, g1 99,

Sfd, foffT a1 S TF % 3MER W 99 W UH AT
§ 3 =R 16 dF FENE (ISTR) A § g
ARG S A STEER 3 8|
79. Tefeiaa § & SI9-91 9eq e T8l |
(a) WA (b) Feef
(c) oI (d) 3 § ¥ TF ¥ 1
(¢) 39 | § &5 T
Ans. (a) : GHSA § THR (I8 9 BIC % §) & 3MER
W IR 92 ¥ JeWd, WM, 30T el 71 S&lh HA
T R F WA a9 9E 2 S hadt g5 J8 F T B
79 N foheq (a) TE W B
80. TegR o form a1 W a9 &1 SR wWalfersh

B £2
(a) ST (b) Tear
OS] (d) 3w § ¥ TF ¥ 1
(¢) SWIF H § &1 Tl
Ans. (b) : R ¥ Tga™ St § o9 &7 3aed 993.23
FIR T S (12.9%) F 9 WA H g1 e J
FIX 705.64 TIX T 9 499.1 TR = F T T T
e watfers =ree Seqresh el 2|
81. hIA-TT YRS ST TR T et Tmo=T o &2
(a) 1667 (b) 1767
(c) 1867 (d) 3= 4 9 % ¥ 31
(c) SWF # § &g T
Ans. (b) : TRATT TeeroT fq9m &t w@ma af 1767 § &t
T ot T8 fage ok Stfie fawm % deq aw & agiE
Feferur SR AFRET e, SR H Gay GO A9
ferm 21
82. UGN Toleh &
(a) frafdere &1 (b) G¥9EER &I
(c) TFTAEE & (d) 3T § § UF ¥ 31
(c) SWF # § &g T
Ans. (b) : THT F T AT 3T TATGROT 3N Tepfeish it
B G TG 81 IO WIS 3N WikHlas b &
QI T deR SN 3 T S & e
F1 9 9T H e H AT A AT H I I
A 81 TR § W S & g & SuEed @ o
24 21 AmdE et wiepies g-gva @ A s 2
TN, HAGH 9 TR G YIS % gu g |
83. Uad [ITER W THe aTelt g | sheaTdl ©
(b) Tee
(c) B (d) 3= ¥ 9 % ¥ 31
(¢) ST # ¥ &5 Tl
Ans. (a) : 790 R W e aelt T2 908 heraTuR
FHEAr & |
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84. igymue faemeam ford wWhe | Twfud 87
(a) = Wl (b) S A
(c) o=@ (d) 3= 4 9 = ¥ 1t
(e) I | § HIg Tl
Ans. (b) : Wiy fRmum Wi had & gafed 21
108 Tt % sfd § w4 3 g fosfE, T®
forgi &9 § q-gwli % anffepeor ik fveryor & daftm 2
85. I AT T IUTH-TCT Tehedh el 1R &7
(a) A1 gt (b) Hebref Sioft
(c) TSTWEd WRIfSar (d) 39dad § ¥ ws ¥ Ifoe
(e) 3 | § HIg Tl
Ans. () : 3TEHSH TH T TR 9 TAeT W & S 0e
m%wﬁﬁﬁmﬁammﬁ%%a‘r
fmeaTae SR TAYST Yaq S@dl & Sedl &1 S 98 ad
T 1067 HeX W 2 (37cheh) | Tgl & FHI F HA A
foreperdt 21
86. WEH YIVT ST TITH TehaT W9t &XTthel %
arg g2

(a) 44% (b) 30%
(c) 50% (d) 3% § ¥ TF ¥ 1
(e) 39 | ¥ HIE Ll

Ans. (c) : 77 Yo U FN Yo e g1 Tog
FA 307.56 TG FTHRA &F F 152.05 AT B qfH
T F oreli &1 ST ST B AT 50% (49.43%) A
Ff = 21
87. UITENUT YEHUT F =7 feAT

(a) Frafoare &t (b) Ta-frafaarg =

(c) Tt Fafea= &1 (d) S0 § ¥ T ¥

(c) 3w # § 1 T
Ans. (d) : TTaaa Bftey SeR 9 T 8 Gheu T&d
S a1 foRml vl fMeeEr o gvaeE & de
weant i URERIT ST 81 S 39 TdHEEEE yeE
bt 3R et fgreae 9 & 59 qed Tl et
P I Fh &9 FPid W AT I@ B T 21 3
YHR TFfeaRor SguvT fafias # iR Tg-frafiEs # s
feam 21 or: fabed (d) Sud & ¥ % ¥ 3, S A
88. Tew & frm et ¥ W =1 Scew walfusw

BT &2
(a) T (b) g
(c) SEHIETE (d) 3% § ¥ TF ¥ 1
(e)@ﬂaﬁﬁ@mﬂiﬁ
Ans. (b) : fRR a7fde Teftenm 2021-22 & IR g™
fer & ¢ 1 e (729.31 TR =) Halferk Bar 21
% 9 YL, UYEH FUROT F qd @gRoT 8 e A
383.67 B9 &, 335.68 TR 4 9 385.57 &N 24 g

F1 IARA G|
89. YT @AY BT &
(a) GCEHATEHS (b) 3TIEATHSR
(c) foadfe (d) 35 § ¥ TF ¥ 1
() SUAH # § B T

Ans. (c) : Y9 0 (e &R ¥ s 81 98 Th
guad a1 fask &7 2, S 9uael & Tk W B dge
T8 T 1 Tl ¥ fags I §) T8 AR Wy
g S g 2
90. faEr & form fer o <fiFt =1 SuTeR Wit
BT &2
(a) T&f TFROT (b) 9= SRR
(c) |RU (d) 3= ¥ 9 % ¥ 31
(¢) SWF # § &g T
Ans. (b) : f9BR ¥ @ =1 3cres: el 6 ufvadt =uwo
& UM T 8, Sl 2021-22 § 56.98 A (68.24
ARG ) T H IR gaT| 3Th I8 W T IEH
et shaer: Q@ SR (12.13 @/@ 24), Marers (11.50
A =) SN IR (6.65 TG ) T
91. UHAT Shicil chel TATIUT gAT?
(a) 1861 (b) 1863
(c) 1865 (d) 3= ¥ 9 % ¥ 31
(¢) SWF # § &g T
Ans. (b) : BR & TSEr & Req g2 Fois # T
9 Sad, 1863 I g2 ot | I8 Hen A IR Aoy &
¥ UG Fa BT 2|
92, TH W &N o< A GHTER-UF & GUEeh 472
(a) ST o5 TSH  (b) Wfa= =
() fafm sz @ (d)3W § ¥ & T i
(¢) ST # § &1 Tl
Ans. (b) : 3< A THER 93 & Hued 4 snfa< =
T foRam 911 6 3WTE, 1906 & 3 GUER YT H FHIH
TRA I AT TE IS AW H TH e GHER TF
o1 39 GUER T H LT 1905 3. § it == e 3
41T T S TR THK, 1908 & d8d 98 F fA
T 9T
93, ‘3T Sfeam TRe= d=r' =& TmOAT 1932 W
ferrer gIT @t T oft?
(a) BT, 3R, EEH (b) S T9
(c) HRTeT TTeft (d) 3 § ¥ & ¥ e
(e) ST H § &IE Tl
Ans. (c) : ‘o gfean gReW @9 & o 1932 ®
TR M g A TE oft | TR 3 gvAd i e,
R 9 aferl &1 S ST 9n
94. HA-HI TeAT U UEA g7
(a) 9T BTSN =T H F&E
(b) forew o &1 3R
(c) TR IS UE W TS dde F THA
(d) 3F ¥ § & § e
(c) ST § ¥ 7 &
Ans. (d) : IR | UfRas geist &1 w7 § O 1942
¥ foreg fem 9na emm 9n 39 fvW % Al i
IHFR H 8 ST, 1942 & 9Nd Bl Aaed &
AT U R T On1 39 Stigie # mifish 3 &0 A
T & AW & o7 e S % U8 W A d9dd
ST S 1944 & 3T 911 98 1944-47 T 9RA
ElRERRRE
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95. FTH | fRem T wEq g WA T W
W gl SgE fh 'Tw T wgd gaw w9

(STTHETR) T Wid=ierea shar &''7

(a) THRA (b) st
(c) firet (d) 3= ¥ 9 % ¥ 31
(c) ST § ¥ i &

Ans. (a) : SHRA 7 T8 Fed gU WNAG TET FIE A
gt ST 5 T8 Tgd YW W (STouEEIs) 1 SifTee
A 217 ARAE T HEE # WO & gHT SHiA
A 1 AT T

96. TTURIGY 90 HIUE T fehment Tidt st O &t

e ofi?

(a) T B (b) AW S

(c) TEfeRM 9 (d) 3WE § § UF ¥ 1

(e) I | § FIg Tl
Ans. (b) : 0 HUE H T 30 3, 1908
ﬁgﬁ%sgqaﬁwahawamﬁmﬁmw
T Rl frawe @ S oS FAS @ g @
TS| TH IE H 17 TN 9% GEW 99 H 11 3,
1908 &l Wit g & T At

100. ‘IAT ST ATEIGH ' St TATIAT T 9 e 772
(a) B0 fafaam SR (b) Svatas faamamR
(c) TST AR T8 (d) 304 § § 05 § s
(e)@ﬂaﬁﬁ@ﬁﬂﬁ
Ans. (a) : AT SMA FRIGH H TOA F AT T
fafas SO &1 31 9 &, ITTEaR 3k oes o 9
AYFH ARG F Ted TPARN HA A1 FHT W OFHL
T T HieT 2
101. Torm fafy =t seftv= weelt X wwon & ¢, foh 57
1948 ek farfesr vma =t Big Im?
(a) 20 SHaY, 1947 (b)20 ®Ed, 1947
(c) 10 SHadl, 1947 (d)3wdad § ¥ T& ¥ 31
() S9FH 7 9 B T
Ans. (b) : 20 HE, 1947 H FAH<T Tel 5 =oOT Y
foh 7 1948 T ffew TEHR 9_A FI I 4|
102. Tore o forgR ot STTeT | 7T feRar e ar?

(a) 1905 (b) 1907
(c) 1909 (d) 3F § § & ¥ e
(¢) SWIF # § HIg T

97. TH W HA T JTX <=’ A Wi
& a?
(a) HICTHT ASEE Bh
(b) HAMT S 37elt Tt
(c) HIAHT STeT g8 gTelt
(d) 3% § ¥ TF ¥ s
(¢) 3w # § 1 Tl
Ans. (¢) : 3R A T WAW e gaq @i
Heif T8 91 39 SEed @ YRS 1910 F @ T o
TEH AgaHdl A WS 3Tl WM Weed @,
e S otelt W SN ggd WM g o4 TR
qUATE Sae § ehig IRTERt 3 gebrerd i
98. 1832-33 o HeX ‘whicl fasig’ oAl Adedl feREA
fera en?

(a) TET T (b) Ay IR B
(c) 3 AE  (d) W ¥ ¥ uH § e
(¢) 3T # § I T

Ans. (e) : @ S e B [958 1832-33 &
e A X8 g THH A9 g8l 9 A KA T
SffETe BT AR &F § g3 oAl T§ Nraq Al ar
(fep) 3T o <907 &y s&en o & fow fam @ am
39 YR fohed (o) ST &I

99. for T o e THE T QET gar?
(a) 1857 (b) 1858
(c) 1859 (d) 3= ¥ 9 % ¥ 31

(e) ST H § F1E T
Ans. (b) : 1857 3 FHifd & e A9 a9 Hax &g &
T 26 3T, 1858 T 3T o1| 1857 I Hifd H 37
% fgard @gE # 9o 8 % FROT A FIW e
S % (TSR e fgr) T 4

Ans. (€) : 22 "M, 1912 & &M Wid ¥ foER 3N
NI I ST HLh Th 97 Tid @1 T 9GRT IMEA
sAfafem, 1935 % T 1 31, 1936 I IH: R 3R
anfEem & STe-3Te widl § fawnfsa e fe=n mar an1 3w

TR fahed () 3udth § ¥ i e, I Al

103. TAfefaa & & 9RA SIS =IA, 1942 T
HET SHIUT AT AT?
(a) foheer fAeM 1 STEwherd
(b) fadira fovags & afeRs 9@
(c) Tief-sefem st
(d) ST § § ©F ¥ e
(c) ST § ¥ i &

Ans. (a) : TG SIS A€ 1942 F T FROT e
oy 7 It/ e aharar a1 fie & foreht sifqw faofa w
T TEEA 911 §Heh Ml ARG W UH A SO
FBHAY & ST A AR IRAET S o wewdt & fedr farea
g # wfier HE anl sEE e St oA Sl & faws
I BISl SAEA & YEA 3l |

104. Tt 9R@ & W sl TS gRf, uEr
wigu= bt aar & e gttt g, faaesr
1949 ¥ fouffa st fear war an?

(a) Tares =mETeE W 9l g0
(b) f=w qer gferan gffa g
(c) & Gfufd g/

(d) ST ¥ ¥ TH ¥ e
(¢) 3w # § 1 7l

Ans. (¢) : [B<1 WKa & 99 & qo9 & oH Siaee
fomE g9 & geg gfafy grr faaer 1949 7 fafofq &<

o /=
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105. frafafeg § @ araad § fafr =t g @&
ThHI-TT Uge] UTaT AT &2
(a) —riferest, feranfad srefufersr smawr ar faemdy
IR FI, quid: A1 I WM H I AT F
BETI
(b) TH Hfafy quia: a1 o1ifvre &9 ¥ = v i
S Hehedl 8
(c) Th ¥ fafyy i, waenfae Tened & wreaw
¥, TST gW YASIfad fpar ST St &
(d) ST § § & ¥ e
(e)?qiaﬁﬁ@ﬁépﬂiﬁ
Ans. (d) : 9°7 % # ¥ s @ 9eq fefafaa dav
¥ uEn S d- fEd e, fErfed s
amewr a1 foemrl Surl @1, quid: A1 3§k 9N & I
ST o Tl 81 T o S 1, g deiem &
e ¥, TS9 g fefam <1 GHa & R TH
Hfafer gofe: a1 orifes &9 & = Siftd #F s T 2
39 fahed (d) 39 § ¥ TH i, S Em
106. fr=faiaa o ¥ ferm wffa &1 & 3299 1970
A Ud, ORA ¥ ' Setaee’ ol Wéieh URWTT AT o1?
(a) =107 WA (b) FY8 Wl WA
(c) TR §fafa (d) e § § % ¥ 31
(c) ST & ¥ FE &
Ans. (a) : TE. Y. IR Pt FTIIA § TA-ISA W Th
Tfufe &1 3T fHar T a1 e el 1969 H oL
fard w&qq &, o 7= |eF 1970 § 9@ 99 H
TA-IGA ! GSIh URATST ST T
107. 39 ¥ froa ‘OmEfie wEwa’ @ T CHE
R+’ Al HaT o oft?
(a) S TH= S@IE 7 (b) TR T8&
(c) SAAR. 3T 1 (d) I § ¥ TF T 3w
(¢) ST & ¥ FIE Tl
Ans. (b) : TTEIRS fGF HEHT F TH A Hid H
T AR A JgE A faor o1 gt e seiwe
I YT A% 1952 H &l T8 o
108. TR @R Set Rierg aemn feafafea & 9
T ad ey =t e efi?

(a) 2008 (b) 2011
(c) 2014 (d) 3 § ¥ TF ¥ 31
(c) ST § ¥ i &

Ans. (a) : R T@R 7 =R % fou yafa foewel @
H % G & B F g9 2008 § G1 F=E & foOU
IS, FRR SR S R Ao S E e @ an)
109. WTS-TI<T YoTa e ot |G it §

(a) 1676 TH. WH. (b) 1435 WH. TA.

(c) 1067 . TH. (d) 3= § § % ¥ 31

(c) ST & ¥ i &
Ans. (a) : TE-IST 9 B & BT 1676 TH.UH. T
1.676 H2X Bt 81 SEfh Hex 5 g B oA (W
s7) @t =g 1.0 HeX 0.762 Wt Bt 7

110. 9T e o6l o8 T ¢, fSEek oe

NN qAT T AT 2T Radrer &7
(a) S AT (b) ITRE T4
(c) st digg  (d) S ¥ ¥ uh § e

(c) ST § ¥ i &

Ans. (¢) : AT e a1t Raaret HIte =ivsT 7 a9 2020
& 2Rl Teifuss § @l gesh Sid 3T a9 2023 § &
e # e woeifeay AfteAfem # geet ot e Tt

T ol yesh U W 1 3fRE = fean

111. &af9 & WU hi TehTS ohl hgl AT 8
(a) Al (b) afe
(c) TR (d) 3 § ¥ TF ¥ 1
(¢) 3w # § 1 T

Ans. (e) : & & HIH HE SUEA gl 2| S Uh
% WG S THE afe 8 o TR fad um & Wi &
THE 21 3T THR FAheT (¢) SW (37 § F FE )

Rl

112. 9RA o AT GO WG hl <97 hl hel T
TeraT Ta?
(a) 28 W, 2023  (b) 23 3T, 2023
(c) 15 37T, 2022 (d) 3= § § & ¥ 31
(e) I | § FIg Tl

Ans. (a) : TIFES Rg A& 9 10 f7Gs®, 2020 F G
TYE waq & SRR W@ f 3K 78 i 9ot § st
o & T R 28 WE, 2023 &I 3w H il fhar wer
21 g feamed fame wew T TAR 7 21 39 ot 1272
e 2 e efiemem & 888 T 3N TsaHr &1 384
O & ¥ T9e 9ed I GfauH Ged % AW ¥ S
ST |

113. ¥R &7 'TI=AH-3 ' TS & Tag W hdl a7
(a) 10 3T, 2023 (b) 15 3TTH, 2023
(c) 23 3T, 2023 (d) 3Wa § ¥ & ¥ 31
(e) I | § FIg Tl

Ans. (¢) : THIE-3 THAT H Hag W 23 3T, 2023

ST ORGSRl gE WA
T ATl Tgel a1 @ SN THAT W el et s aren
o (&9, SR a 9F) T 81 3 T 5N 14 TR,
2023 1 4 BRI ¥ o fohar e o1 suE st famhm
R TR F AW 7H 21 T IwaE-3 a0 3§ fm
wifts fomg’ = fem T @1 yuEs A A T 23 e

a9 TP siaRker feaw’ & €9 H 9% S A Ao A
114, ¥R o WIERI T 3TTwE 1 99T &l ST &
(a) TH TURST (b) UH HH
(c) Th W Y (d) STIH A TH § A
(e) S # § HE T
Ans. (b) : YRd % TEgH 1 AJede-1 § el T g,
IR S fF 9Rd 2, TS &0 99 e 98 SfeE &
Tl oEE # AT %, T9, F wfm wui ek
= AR &1 1 e e 39 gfged & 91 H
Iedifiad forar T 21
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115. fafeor v & dRm, fooeht Twemit w6t g
feram wEt?
(a) TERIT Ufersmaey (b)) féh Sifst v=w
(c) TR fomRiftan (d) 39w & ¥ & ¥ e
(¢) ST # ¥ &< T
Ans. (b) : ffesr ara =t e 78 oot & smeRfyEn
TEhIA GEIE S 9= g 1911 # fieell S@R-II &
HRISH % A W | ATEET St argehell 3R A1 &
fofewr snffdae, W 7 s 7 wsfam qfeem g/ e
TS | THY @ I FH TS HiARA A
116. TIHT Tl o TR, FifTS-19 & HR firs-
2023 deh Tehae AR 3 = TTaTE 2
(a) ST 15 ARG (b) ATHT 5 ARG
(c) AT 2 A (d) 3WE § § UF ¥ 1
() STH & ¥ #E T
Ans. (b) : TER P & IR, FGe-19 & FROT Fe-
2023 T T 5 A (531790.00) T GRAME
O ST S TEE | SARS-COV-2 (FIfag-19) T
R § e arelt a2
117. ¥R & G-20 T AT-ATT &
(a) 9&Ha S0 (b) TS 9RA: 9T WA
(c) TG FTFY (d) SYAHT H W T § afrE
(¢) ST & ¥ &< T
Ans. (¢) : 9RA ¥ 189 G-20 FTEX T9eH &1 3™sH 99
10 fadaR 2023 @1 a1 T 3H AT H AT a9
“qgdd Faw’ a1 UH geAl, Th URAR, UH 9 7
THY TR I H 219 9 & &Y H WER fE
| SfYeh S S TesE (GBA) @ ST & T 2
118. O TF o ford e o W &l TR HITera=
EIRCER: (FuR Y]
(a) 50 ¥4 & Al W (b) 10 TF & AT T
(¢) 2000 ¥ & AT W (d) STF § ¥ T ¥ 1w
() ST & ¥ #E T
Ans. (¢) : WIAT & % 2000 ®IF & Al & UGS @l
T HeraE & o gfsd €1 9 2 50 g, T 100 T
' 919, T 200 T B FI 3R T 500 H A W AA
feperr fa 21
119. STehT T AT ST HIUA v WIA EWT TeRarm

Srarg?

(a) ST (b) FAreR

(c) Taeqams (d) 3w § ¥ TF ¥ 1
() S9FH # ¥ HE T

Ans. (¢) : JHT F o 3R Ay 1 @ A F e
e 1 T o ST @1 39 A9 & SIRT e #
B9 o g 1 A% a9 ST 81 S aUHe H
YA 9FEE WO § iR AAme & s q@ % fa
foma ST 2

120. I | RIS T ieroTd &

(a) 0.04% (b) 0.93%
(c) 21% (d) 3= ¥ 9 % ¥ 31
(e) 35@3\‘[ 7 9 & T

Ans. (c) : J% & argAVSA § A 78 SRR ATggisH
3R 21 e SHeRisH = S 81 3 i 0.17%,

M 0.90%, 3 Hie SRS 0.03% 2|

121. STIHUSH ol hE XA H gaT3 ST&TSl 3T 82

(a) &HUSH (b) THATIHISA
(c) wEAHUSA (d) 3% § ¥ TF ¥ 1
(c) ST § ¥ FE &

Ans. (d) : IIAUEA & WA GEAIHEA § gAlR SISl
It 31 T8 gEHEd I gHd W I eligHsd & FW
R qeHEd & A U S 81 ae wid & 8 ed
g SN e WM Al 21 E Wa H IS W

EicilS il
122. UHTeRUT o f1Q fehed @ &7

(a) Wad s (b) SHEE 3f
(c) ®Ea g (d) 3% § ¥ TF ¥ 1
(e) 3 & § 1T T

Ans. (b) : TR & AT @A SEE 3fE ¥ 71 A
STRTY Iared H ANEH F 21 39 A F ol guv
a9 & Herd AR Al AETE B S F B A 2
123. HEWT fohT WehT oAt IRTEAT § ?

(a) 31 (b) T
© 93 (d) SWF A 9 G A
(e) 3U4H # ¥ FE T

Ans. (b) : HERI g1 & Ta9 a1 T AEAA g1 T
I TETEIT o 30 e # Re 21 7@ 10 Srem-eem
9§ G Wen S 21 9% gt B pe L-8Thd W
AT 8% 9T W Thell @1 THHI & 9.2 fHfera &
fheldiet & S TSI & 31% W &I HaL Ll 2
124. 'To8 MRA U9 dHal YA g3TT?
(a) 2 3, 2015 (b)2 f&dsR, 2016
(c) 2 3T&, 2014 (d)3TdF & § TH ¥ 3=
(e) ST H § HIE Tl
Ans. (¢) : T8 T fH¥H FI YET 2 IR, 2014 FH
TS TP Sdie & T W Y 6 T
125. T A o d¢ W e Il g
(b) IR
(d) 3= ¥ 9 % ¥ 1
() STH & ¥ #IE T
Ans. (a) : T =& & a2 fod IR AN, )
Wﬁﬂaﬁimélmﬂwgﬁﬁ@@m%
g S 9RA W HEE We A4 2525 fohelHieT 21 gEe
A B @E § 81 I8 W Y2 H 28 et 9
el 2|
126. Sl ohT TR-TLORTTE & &

(a) TE] o (b) AN
(c) T =it (d) W § W UF ¥ e
(c) ST § ¥ FE &

Ans. (d) : - Sl & A FHd § 39 8 8
foe TRl Sl B el ST 31 39 3iTia T, -
g o, O, e gee o oRl SRt @1 S
] Fefl WO Sl & 21 39 JhR I (d) B
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127. SHEEAT 9 S, i
(a) SO- TH § W HEE &
(b) S-S 31 &1 T g W FH &
(c) ST-& %9 & Ud g &R 3k &l
(d) 3% § ¥ TF ¥ s
(e) ST # § F1E T

132. W % N YA U § woferat st geg wrelt ¥
(a) TSI & T
(b) TABE! & oE B T
(c) 3iferdis =t &t 9
(d) ST ¥ ¥ TH ¥ e
(¢) 3WYF # § I T

Ans, (¢) : SHEEAT 9E SR AfE F9-3X H @ 3R -

T e &1 AR FTH-) 3 3R Jog-oX W & A e

Rfer # wRET gfE A T T A 81 AR S SR

G- 1 SUeR 2t Rer SHEn gfs i erawr gl

128. THAfeREd W ¥ fohE Wb ok WgWUT § difetam
7 theT Hehar §7

(a) a7 (b) T
(c) ia (d) 3% § ¥ TF ¥ 1
(¢) 30 # § I T

Ans. (¢) : A & 51 g 9§ FSfel @ g & St
? e 9ot () § srrfeT W & S 21 o
S foeprdl # aifed qe Il St S @ Al drene #
UeTE S TS ¥ WA YE @ S ¢ g9y weferdl &

7] & S 2

133. fr=faiEad ¥ | -6 YguuT-Si-d TR g2
(a) FARITHE (b) FB TT_
(c) AR (d) Swdi & § T § Hfee
(c) ST & ¥ i &

Ans. (¢) : W I A I & TR & HI-HY T,
I TG & AT 3R & HUeh H W T TR [
[ o 21 difern d@ BT § S T 4 o1
ferefrefert (diet aufen) &t AET 96 S 81 39 AHe TR
I ffe] e B 21
129. fAfflEd @ € 9@ 9 &E-91 @H Sd-
Tafererar giewie 2

(a) Tt oM (b) F=RE
(c) 3rTEedt (d) 3T+ § ¥ % ¥ s
() SYAH 7 § H T

Ans. (a) : SI-FEUA gle-Te 9 =9 Yefd
ST THAT F I ST S 21 9N § GRS Sa-
3R guerie 81 9 THR fheq (a) TE W 2|
130. sftenEt. (faes Afefie @t WrT) @t Se
T BT T & foR
(a) W & e €
(b)w?ﬁg T FEfe Tamdf
(c) Tl # [ I el
SYANT AT B

(d) STF § ¥ TF ¥ s

() STH & ¥ FIE T
Ans. (a) : H.3NEY. (Sfas Fwlisa & 3= °i) =9
ST FEET B AT FT &1 S E g H HieR P
werel & HET G921 THC HH WLl
USRI AT W T Yool 2
131. TUCEEH-A TFT W it SuRT 272

(a) 9ISH €T (b) STA-3caA FH

(c) T-3c9F IR (d) 3T § | UF ¥ 1

() STH & ¥ #E T
Ans. (d) : TRERY-A, T8 TG (TITET) & HROT &
ATl AFd H o 21 T8 ATERE T&F &9 § 9 ol §
SE U AEehHd (AN far S aren) =t R
Hewfid =afte & 7 ¥ T G A U B Had F
21 7 T U A e, STEle e 3R
THiRe-TaT 999 § fshedt ¥ ST 21 39 YHR e (d)
TE W B

Ans. (d) : S faeR & wfiE @ S wiNEE &
oS T a1 e 18 2hn 4 o

FoT | , 1 I @
STl @ i T8 B B e § G o % HRT g
21 SEfh P T TA: WEHEE IRAT A A7 ANHNGT P

HROT AT 81 39 TR fGhed (d) ST & 2|

134. R W gaTeA- Rt urg st 8
(a) fEATErRt & H (b) M Td fAeER fuagg &
(c) IMMWH (d) I # ¥ & ¥ e
(e) 3 | § HIg Tl

Ans. (b) : 9T § ¥arel 4l &1 &5 3SHM T hER
£I9 g, Fw H TEl TR # T aoh # @rel iRk
T A9 W A U S § 9w oRfRes @ @
e gt WAt e 21 3 WeNrR & awied o

el ST 2

135. 98 g™ gHu, an g faa-fae yer |
HraTf-ere &

(a) TN : R (b) S : FHST
(c) i : ®aad  (d) 3 § ¥ & ¥ I
(¢) SWF # § &g T

Ans. (¢) : f9 YR, 3R ¥ IR o7d1 & a1 798 ¥
AT &A1 8, §AM 2| S 18 SN BEel 1 gy 3

EREERS
136. Tr=feiaa ¥ W faww @ Im/ag g

(a) 80, 50 (b) 54,27
(c) 32,13 (d) 3= 4 9 % ¥ 31
(c) ST § ¥ FE &

Ans. (a) : 3@ T faswed 5- (a) 80 (W), 50 () (b) 54
(), 27 (fawH) (c) 32 (§w), 13 (famm)

31; e (b) 3 (c) T9H ¢ Fifs a8 ¥9 R faum
Y& % g ¢ el e (a) 39 ¥ i @ s 98
o GE& H W 2

137. < T2 SEET W AT HEAT AT hifT)

40, 96, 864
(a) 40 (b) 96

(c) 804 (d) 3 § ¥ TF ¥ 1
(e) 3 | § HIg Tl
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Ans. (¥) : S@en e 8-
3 40 ﬁ@wﬁwﬁwé‘rﬂ’s‘%
138. Us QIS ¥ Wigd, AT | AW IS R A,

96 864

%9

g ¥ A9 dregn Afg At e 37 S sHreR
o, A g W waw i or?
(a) HiET (b) A
(c) & (d) 3% § ¥ TF ¥ 1
(c) ST § ¥ i &

Ans. (a) : IRAMER,

‘ﬂ%:f>:ﬁﬁ;

A > gad

g > Affd = 31| > qaq

d: Higd ag H Jod o W R
139. A X O TehcteRt shuemm gferur faom o 50
tfiex g, fR ol ggat 60 HieX et 9 uA:
T gt 30 HieX Teltl o 3§ U =X e
TgeH o O feRe Hiex wretr ugm?

(a) 140 #HeX (b) 100 #HeX

(c) 90 HreX (d) 3= ¥ 9 % ¥ 31

(c) ST & ¥ i &
3l
ﬁw+g&
aferor
T S A

Ans. (b) :
AT HHEAT H R g A W fRerm 21
AB =50 + 30 = 80 WX
AABC ¥ UEeNTE 8T 9-

AC? = (80)* + (60)

AC = /6400 +3600

= /10000 = 100 HieX
140. Tfe fordt wes ad o W2 25 & e &, o SE
T8 § feEwR 25 T AWE &1 Sh=-91 foT gem?

5 0Ht.

(a) THAR (b) TRAR
(c) IR (d) 3% § ¥ TF ¥ 1
(e)@ﬁ?ﬁﬁ@ﬁﬂ'ﬁﬁ

Ans. (b) : 25 TE 3l faA = PR

25 fegwR &1 foww fai &1 9@
=6+2+3+3+2+3+2+4
=25

a7a: 25 fegmR &1 foq = foar + 4
:'{I{ﬁﬂ

141. T He 9T H, CALICUT & 8251896 U
DELHI & 73541 fomam Smar €, &t 3& &e
aTeT § CALCUTTA &Rt @ ferar simaam?

(a) 82589662 (b) 85436912

(c) 86698528 (d) 3% § ¥ TF ¥ 1

(e)@éﬂﬁﬁ@aﬁéﬂﬁ

111111

8 8 96 6 2
142. P,Q,R,S@T@wﬁ@qvﬁé%%np
o Ug rqur-ufyem feom &t T € qer S &
He <farur-ud feum i avw ¥ Q 99T T wuwT: P
Td S & |EA §IR, S TE Q & wed wu gt w
TR T g form foom & €1

(2) oo (b) &R

(c) ufeaH (d) 3= ¥ 9 % ¥ 31
(e) S # § HE T

Ans. (a): P, Q,R, STH T & JuIHR §34 &1 HA fefad 2-
N

o R H He TR A SR 2
143. TISfeRal ol ek UTeh W shferdr o1g o¥th & 9eff &
qAT T IE WE T 16 T T T 1A T
HI IAT-SeAT T o, T Hiedr g Tk o
254 &t et 1 ufvR ° et feRat wefeRat 82

(a) 39 (b) 40
(c) 41 (d) 35 § ¥ TF ¥ 1
(e) STYF § § HIE T
Ans. (b) : TSHaT & URF § da F FT feaq 2|
. qf Hfea .
il -
161 odf
M gRaq & dIe-
. qf Hfea .
EEil D2 N
254r
F& ASIHAT B HEAT =25+ 16— 1=40

144. fFrefafaa & & S9-91 3/ 82
(a) U GHATG RS I STHA gaz 2
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(b) TH BT B e ?az 2

(c)qﬁmmnrzé
(d) 3% § ¥ TF ¥ s
() STH & ¥ #E T
|Ans. (b) : fo3 T fopedi & 9 Rwed (b) SR Bl |
145. Teh g1 T QIA%eT SHeh! URFT T SRIAT &1 g
&t e
(a) 1 (b) 2.5
(c) 4 (d) 3= ¥ 9 % ¥ 31
(e) I | § HIg Tl
Ans. () : I I &. = 2xIq P IR
T’ = 2x2mr
r=4
146. 3T 0, 1, 2, 3, 4 o ToAT TS o FAT A 4
7Rl ol feRa=il T S8 9T Hehelt &7
(a) 120 (b) 5*
(c) 4° (d) 3= ¥ 9 % ¥ 31
(c) ST § ¥ FE &
Ans. (e) : %mwaﬁ—ouu
4 3 Fa AN =
Oﬁmiﬁﬁmﬁw
Fd Y gE@Aw = P, P,
5! 41
(5-4) (4-3)

= 5x4x3x2 — 4x3x2

147. ﬁa@w@hﬁﬁﬁwmm

X

(a) 8,9 (b) 81,9
(c) 16, 81 (d)wﬁaﬁﬁﬁwﬁa@zﬁ
(e) mﬁaaﬁ@aﬁs‘ﬂ“é’f
Ans. (b) :
WP 72/
64 - 36=28 fershed (b) :q
16-12=4 81 -25=56
17-9=8 _J*7

148. Tk %e o9 H, MILTON & LMRJGK 3R
MOUSE &I CQSMK fa@r wrar &, «r et
aTeT & TAKEN <Rl & forman smam?

(a) RYICL (b) LCIYR
(c) LCIRY (d) 3 § ¥ TF ¥ 1
(e) I | ¥ HIE Ll
Ans. (b) : 519 99,
M1 LTON LMRJGE(
ILT
-2
=2
=2
-2
-2
e
MOUSE CQ S MK
ILT
-2
=2
=2
-2
3G THR,
T AKEN L8 I ¥R
| 2 1
=2
-2
=2
-2

149. T Ue T TEUT &I g &t TF @ |

T IR A R :

C, L,D, H,V

(a) P (b) N

(c) Z (d) 3% § ¥ TF ¥ 1

(e)@ﬁaﬁﬁ@ﬁﬂ—tﬁ
Ans.(a):?«pf"lé’j"@wmé‘
I |
g by B H. V
T 1 4
37q: @ TR P I
150. Teh o & % T T 900 W 20%, 30% 3
40% whiteh e fuerdt € e & e 9% &t
HiOd §
(a) 810 (b) 302.4
(c) 300 (d) 3% § ¥ TF ¥ 1
(e) I | § FIg Tl
Ans. (b) : 5T eI =X 900
g % o1 T B I
= 900x 20, 70, 60
100 100 100

=302.4
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TR wieh W AT Thet 3teaTyeh udier, 2023

HEHT AETTA (TRE 2.0)
TIT-UA-1 (& 1 | 5 )

AT g g1 q9-U

(orfrear fafer : 14. Dec. 2023)

Part-1 : 9T9T (Language)
3TUSH (English)
Directions (Q. Nos. E-1 and E-2) : Fill in the
blanks with suitable articles like ‘a’, ‘an’ and
‘the’ :
1. I have so many
(a) a
(b) an
(c) the
(d) More than one of the above
(e) None of the above
Ans. (e) : ST T & R WM H WG 3N faswed
(e) None of the above BT FHaifeh R @ qof a1 &
w® 8 R wH & R Article 3 Determiner &I
LI T 2|
Note- May a % a5 Singular Noun/Pronoun T4 Many
& % Plural Noun/Pronoun 31l &
Correct Sentence -
I have so many good friends.

good friends.

2. Iwant to build _____ very big house.

(a) a

(b) an

(c) the

(d) More than one of the above

(e) None of the above
Ans. (a) : STH aTH & 99 & IR {F ©E § 2 &
TANT BN 374: fashed (a) IUH I &M

Correct sentence -

I want to build a very big house.

3. Which of the following is not a part of a
garden?
(a) Flowers
(b) Grass
(c) Wardrobe
(d) More than one of the above
(e) None of the above

Ans. (¢) : SR T & IR, Wardrobe is not a pat
of a Garden. 3T0: fa&ed (c) ITIH 3T &M

Note- Wardrobe is a place where clothes are kept.

4. Which of the following is a part of railway
station?
(a) Platform
(b) Over bridge
(c) Arrival-Departure
(d) More than one of the above
(e) None of the above

Ans. (d) : SWH I ED 38R, Platform overbridge
and Arrival- Departure are part of railway station. 37d:

fa®ed (d) more than one of the above STIh 3 g

5. The sixth letter in the alphabet after J will be
(a) G
(b) P
(c) O
(d) More than one of the above
(e) None of the above
Ans. (b) : S T & 38R, The sixth letter in the
alphabet after I will be 'P'. 31d: fa&ed (b) SqY<h I
B
6. In a zoo,
(a) birds
(b) animals
(c) snakes
(d) More than one of the above
(e) None of the above
Ans. (d) : IRI® T & 3THR, in a zoo birds, animal
and snakes live in cafes. 37d: fed (d) More than one
of the above 3UIhH I g
7. Daughter’s daughter is
(a) sibling
(b) niece
(c) cousin
(d) More than one of the above
(e) None of the above

Ans. (e) : IRIG I & 38R, Daughter's daughter is
grand daughter. 37d: {459 (e) None of the above 3T
W FI

8. My siblings are my

(a) cousins

(b) brothers and sisters

live in cages.
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(c) in-laws
(d) More than one of the above
(e) None of the above

Ans. (b) : S T b ITER, My siblings are my
brothers and sisters. 37d: fa&eq (b) SUIh I BT
&<t (Hindi)

9. UYSaer Vg H feRT SUWA T W gIT &2

(a) ¥

(b) &1

(c) 9

(d) 39w ¥ ¥ = ¥ s

(¢) 3 § ¥ P
Ans. (c) : TSI (F9 + 3s9adl) & H ‘§H' U FHI
TN g3 & Sl IW WeAW A AT H Fed &, o
fret w2 & UEe ST IHH NI 37 W T 7|
Y- B W= F W U aH ¥ TR &
10. Tr=fafed ¥ § &iA-91 9168 37’ SueH-gehe

7?7

(a) 319M@

(b) 3

(c) e

(d) 3@ & ¥ wH ¥ I

(¢) 3 § § P
Ans. (a) : @3 T3 fohedl § ‘319 (31 + 9E) TS A
‘57 IqEt g 31 W SuE ¥ a9 T we -
YIS, 3T, ST 3G |
11. Trafafaa & @ @ 91 v1eg ‘3’

(a) e

(b) 3THeH

(c) @

(d) 3 & ¥ wH ¥ e

(e)?ﬂi—rﬁﬁﬁaﬁé:@
Ans. (¢) : &7 T3 fopedi § ‘o0 Y= G S AT T
@R B1 vk S R I wIex & 3 H g ST
T & TR UIsx ol Al aaet a4 8, U Je9d Fed 2|
O YOI W T Al I Weqdqul Ves- W, I,
T, BET IS

Ans. (b) : 59 Ta@ § &1 g wu & 3R fpe v W
I9h S qUT, AT, e, TE, AT S H T Sl
2, 39 45 9 ed 2
Y - Hrer-faar = A S foer

TA-T = 3 A

12. ‘9O QA1 U YU A ¢ 9% hiF |1 9HE ¢
(a) TAE
(b) 5%
(c) e
(d) 39w ¥ ¥ = ¥ s
(c) STIH § ¥ #E

‘Sier’ vTeg W ehI9-|T TUT §?
(a) TIET
(b) FHERH
(c) fa
(d) 3T | ¥ ' ¥ e
(e)@iﬁﬁﬁaﬁé:@
Ans. (a) : [0 T s S YRS HHE A IR
¥ oo T fame W7 @ sfer g aegey §u &
IS ear 3ifom Ug WuE gar § U 9N # W yem
ug fergmor dor e o favrs @ €)1 fide 1= & faurs
2 % PR A H 3T T Bt 2|
IR - S - EH T AT

TMER - T T GRT LA ATl
TR G & fRa TE Y& 872

(a) 9
ORE

(c) ®:
(d) 39w ¥ ¥ = ¥ s
(e)@iﬁﬁﬁaﬁé:@
Ans. (b) : & @ & A § 309 [GHR H WX G Fed
g1 = HfY % uiw 92 2 6-

1. & v Hfy

2. 77 @ Y

3. gfg @ gy

4. U7 @ Gy

5. 3fe X gy
" ardfter’ T Wfr-freag BT
(a) 3fd+ 3a
(b) &1 + di=
(c) 3T + 9
(d) 39w ¥ ¥ wH § s
(e)?ﬂi—rﬁﬁﬁaﬁé:@
Ans. (2) : @3 T w2 e & dfy faese AfT + 39
B g &Y R Y w1 3T 21 56 FemeER Ak
e dd e 3, sFAacgE AT G 31, g, 3 A
At et & e, €, % 59 9. 2
Y - GUR + I = GHRIAY

13.

14.

15.
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16. ‘ UgTR’ vIsg H -t witr §7 20. ‘=uma’ vreq w faenw §
(a) 35 e (a) W
(b) ewnfe dfy (b) g9
(c) FUT Gy (c) 9™
(d) 39w ¥ ¥ T ¥ s (d) 39w ¥ ¥ = ¥ s
(e) STYH ¥ HIE T (e) Sudth & § &1 T
Ans. (¢) : & T v TR 1 wd dfy-fosse wf + Ans. (a) : @ T focdl § GU W AW B OGE
I BN 1 AR A0 W B IEET 1 T SR Af| | [ = 2
3, %, 3, %, B AR HE FT @XM, @ F A g [21. T o yufera feeoft wmor iR Swek visg &1
, 4, T B uRafdq & s 21 wE- W A& T 22
ST AP + M = e (a) 3~ 37cd
3 + TIUT = S0 (b) Tl - TER
17. ‘AR 9TeE W GRI-Toresg anm (c) WRET - el
(a) 7 + & (d) 3T & ¥ ' ¥ e
(b) T + T (¢) SW® # ¥ &1 T
(c) T + &5 Ans. (b) : & T fomedt § ‘omET W W9
(d) 37dF & § T T il &% L ¢ Ifeh g BRI 9T Ve 7
(e) 39T H ¥ HIE ALl e hlelL
Ans. (a) : TGS Wsg & TE Gf-faese A9 o+ || |® 3, eaTer, SHiA, s, - 3REl
B 21 a7 fet SR o e € g wfy & fremer| || R, e, Al gehe el
et () 1 = W =99 F WY AT g9 W ST IR || o e, TSI, SER, G, - R
ﬁmé,@ﬁﬂﬁﬂfﬁﬁﬁél TG, SIS, I
T - A + T = T 22. WA ferw IwwToT A ael §7
18. ﬁrm—ﬁ:ﬁg‘;’aﬁwaﬁ%r%? (a)ﬁ%ﬁ
(a) 379 form (b) odf o=
(b) 374 - ferm OREE
(c) Arrh-fae (d) 3% § ¥ T ¥ A
(d) 39 # 9w ¥ I (e) 39T § ¥ HIE ALl
(e) 3T4w H § & Ans. (a) : '
Ans. (b) : B3 T fwm fams ) i ovd-fonm a2 ELL ) SqTET sferat
— Rre viE -ty = Eﬁawﬁ;;iﬁaﬁ?ﬁ
31y forrm , SIS, )
e —— e, Feh
Hardt, wrerdt
HAIAOT | —tl%T‘sﬁ -qﬁ*pﬂ%’r@"f(%trré‘[),
e IR o qwa?ﬁq%.@.
19. Tt vrsgenror ®, frafafee § @ wE-9 v (qHREAT  TTETeR)
HOH TEC STl &7 ArTel - forerdy - ST, T, A
(a) forzam sl - g R - s el BT
(b) ¥ 23. ‘'UTeeh o WIEETY i WIS T AT T &
(c) 54 g — =1 g gt 21 W e ® R
(d) 3T # 9w ¥ I T o forg 3fera vteg o grmr?
(¢) 3 # ¥ P (a) S - Fori
Ans. (2) : 7l TR-F & FER RERER IR 999 (b) A - =
T S 2 (c) ferm - frl
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(d) 3 & ¥ wH ¥ e

(e) 39T # § HIE Al
Ans. (c) : i T T & s wH A O 8g fom-
femgl’ o1 s et Sug §
3 QU A G- TS b WIGENd HI WA SR gAY

o W9 VR % Yo a4 § Waftm IR o o fomm
A, 98 RO Vg vRE B 2
SIY- U J e, T &R o T 8

o IR F W IR § T 3R g o1 ¥ e o7
et &1, 3 e Fed B

I % fou ferm-fa=i &1y g 21 i i
24. H- |1 faameq fow- forg vt 9 T £ 28, eAtr-Regla % wferas orord
(a) 31 - fr (a) feraTe
(b) 7 For (b) THEaET
(c) 3 fam (c) TIUSALST STy
(d) 3IF § & 1 ¥ (d) 3w § § TH @ A
(c) 30 | T BT T&f (e) 3udw § ¥ *1E
Ans. (d) : 3 T fasedt § ‘Tea-fm 3 ‘e1eq-faum’| | |Ans. (b) : SEF-FIg, IRAT SR B TH GORE §
fom faree =1 9g T 21 e wfquress Fead 81 s=i4 Far & fh “Hred @
25.  HIF-WT ESRI yEg fget w feier A 22 e ety 21
(a) AW  Fel 29. frfeTREd e, TmuET (37) 31K 7 (F) W
(b) T 3R 3 faram SR siv e R T e & W fremen
(d) Th .
© Tk % & 2 TATYT (37 ): HeAT T I SitaT | Bl

Ans. (b) : ‘Tl R IW g yOR fgad 1 femr T
2 dfcs 78GR guf i =1 g e’ |

T TR fGad & ww WA - A owiE, fe,
FHAEH, STERT B AT, Fedi-dar |

26. U iR SUIEERR I -0 I L & &7
(a) JeE- HOETTE ]

(b) 3T dg FHR - T3 Haga

(c) TE T - FHHAW
(d) 3 § § & ¥ I
(¢) 39T # § FIE Al
Ans. (d) :
U= SU=ATHEHT
e - Fuftar 1 oy
IR &g FAX - Higd TH
T iy - AT

27. 9% VIE-vith aeh gRT WY wed, dnerd

Tehfereh o G 37ef =T J19 BT €, S wEd B

(a) e

(b) IO

(c) SHSH

(d) 3 § § & ¥ I

(e) 3ud® § ¥ *1E

Ans. (a) :

o T VE-VIRE Sk g WY FwoH, W Hehfas A
Ty o1 & FH A 21, 39 Sifer wed 31 S9-
T QT T 3 |

ek (F): el Siad &l S TR IR 3§
ST ISTAT Bl
(a) (37) T & 3R () o
(b) (37) 3T (@) A W &)
(c) (31) e 2 3R () W B
(d) 3 & ¥ wH ¥ e
(e) 39T # § FIE Al
Ans. (b) : {3 T FUAl § TG (37) ‘e H 37 S
¥R A T T el S Bl S AT SR I Sl
336 217 A wE R
30. TrAfafaa wmemt, TomET (37) iR aeh () W
fereme =T 3i <fier faw o e & W faeen
T TIF IS
TYTYAT (37 ): AT Tk YAa 91a=T 21
qeh (F): URad=gierar st of gy = smya
T = @& 1
(a) (37) T 2 R () W B
(b) (37) 3R () BT Terd &
(c) (37) W& 2 3R () T &
(d) 3 § ¥ & ¥ I
(e) @i’tﬁﬁﬁaﬁéﬂ?ﬁ

Ans. (c) : & T A F T (31) TR TS A
G 31 HY @ a9 db (F) “IRadashierr #if of
oy T owEd e W @ 2 Taw § wds
uRedefierar gfY & vraa fem 2
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Part-II : §THT AT (General Studies)

31. The difference of 1% and its reciprocal is
equal to
1%3#{ 3Teh SIERA T =T STE B
4
a p—
(a) 3
15
b) —
(b) T
105
C —
© 304
(d) More than one of the above /3T § & TH
q 31
() None of the above /394w H ¥ HIE el
16
Ans. (¢): 1— Egv_m"q:ﬁ
3 i = 216
16 19
361256
304
105
304
32. ( j ( j , then the value of x is
a
b x-3
( j [—j A x &1 H §)
a
(a1
(b) 2
7
C p—
(c) 5
(d) More than one of the above/3T® H & TH &
MR

() None of the above /39w # ¥ HIE el

Ans. (b) : (%) 7 :(Ej 7
a

33. A fruit seller had some apples. He sells 40%

apples and still has 420 apples. Originally, he
had

T el fashdl o U9 B 99 o1 98 40% 9F

ST § T 3heh ure oreft off 420 Ve ) Wor:

Wk U A

(a) 700 apples/700 T«

(b) 588 apples/588 T

(c) 672 apples/672 Tl

(d) More than one of the above

IE® § 9 U ¥ A

(e) None of the above /39w H ¥ I T4

Ans. (a) : 40% 99 I & oG 59 o &I S

=100 - 40
=60%
TR,
60% = 420
1op = 420
60

T TAl H FA G@ (100%) = %xloo

=700 T
34. A fraction which bears the same ratio to 2—17
3 5 .
that — does to —, is equal to
11 9
T R, ﬁr{%ﬁr ﬁ TE U ¥, Gﬁ 3
EQ) 5 >3t , 9% SET &
1
a) —
(a) T
(b) 55
1
C R—
(© Py

(d) More than one of the above /3T § & TH
T 1

(e) None of the above /394w # ¥ HIE el

(E\JXI ~ [EJSX
b b Ans. (¢) : AT 78 R 2§
SMYR T9H 8 W A1 I F =l b qal i W, y
x-1=3-x SRATEN,
2x =4 X 3
) y_u
2 15

x=2 27 9
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27x _ 27
y 55

x_1
y 55

35. If the annual rate of simple interest increases

from 10% to 12% %, a man’s yearly income

increases by ¥1,250. His principal (in %) is
gfe AIELRUT ST ki aTftieh g0 10% o Sgeht

12%% B ATt , 97 Uk snett st arfier

%1,250 9@ AT g1 SHHT TALGH (TH) R

(a) 45,000

(b) 50,000

(c) 65,000

(d) More than one of the above /@i?ﬁ 79w

T sifer

(¢) None of the above /3T # ¥ FI3 Tal
Ans. (e) : {FT o199 =T x
SRATENR,

x><25><1_x><10><1
100x2 100

25TX—IOX =1250x100

=1250

2X=20X _1550%100
5x = 1250 x 200
. _ 1250200
5
x =250 x 200
x =% 50000
3T T x = T 50000
36.

The perimeter of a circle is equal to the
perimeter of a square, then their areas are in
the ratio

Teh g1 ht ORI, Ueh o7t aht TR & s{meR g

Ik GEHE! ST ITJUTT ERI

(a) 4:1

(b) 11:7

(c) 14:11

(d) More than one of the above

3w ¥ UF ¥ s

(e) None of the above /393w | q FiE TE

Ans. (a) : I 37 foF 9o 2 T g7 H B r A A

TRAMER,

4a =2nr

T 3R a7 % &kl B U = 4:1
37.

What is the volume of a cube (in cubic cm)
whose diagonal measures 4 V3 em?
Tk U9 w FEAT (I . H) fRe R,
e fererut 443 @, . &2
(a) 8
(b) 64
(c) 16
(d) More than one of the above /@i?’r’) 9 uh
¥ sfas
(e) None of the above /39w H q HiE TE
Ans. (b) : AR ¥ F TH oM a & @
o 1 ool a3 =443
a=4 9.
¥ T Fed A = 2’
=@y’
= 64 5 .

One of the factors of (x’+1) — (x+1) is

(x*+1) — (x+1) F UGS § | TH 2-

(@) x*+1

(b) x*—1

(c) x—1

(d) More than one of the above /@'{L?B 79T
T 1

(e) None of the above /39w # ¥ & T4
Ans. (b) :

(¢ + 1) - (x+ 1)
=x+1DE*+1-x)-(x+1)
=x+DE*+1-x-1)
= (x+ D(x*-x%)
=x(x+1)x-1)
=x(x*-1)

38.

I SH (x+ 1) - (x + 1) F T PHETS (x*- 1) {1
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39. The root of the equation x’— 4 =0 is

HHRIT x’— 4 = ( T A %)

(a) 2

(b) -2

(c) 4

(d) More than one of the above /@'{L?B 79T
¥ sfis

(e) None of the above /39w | ¥ & T4
Ans. (d) : X -4=0
X' =4
x=
x=12
X & qd +2, -2 gl
If 3x+y =5 and x-y =3, then
'€|ﬁ‘{3x+y=53ﬁ'{‘x-y=3?ﬁ
(a) x=2,y=-1
(b) x=-2,y=-1
(c) x=-2,y=1
(d) More than one of the above /B“CI'{[)?B 79T
T a1

(e) None of the above /39w # ¥ & T4
Ans. (a) :

40.

X 1 O T, (i) H W W
2-y=3
y=2-3
y=-1

Which one of the following cannot be the
square of a natural number?

frfafea & & ®H-91 Te Wik Sear &
ot T & wehe 77
(a) 32761
(b) 81225
(c) 42437
(d) More than one of the above /@i?ﬁ 79 ush
T e
(e) None of the above/3T® § | HIF el
Auns. (c) : [T (a) 32761 = 181 x 181 (ot &)
(b) 81225 = 285 x 285 (guf )
(c) 42437 qof ot dwen 4 21

41.

42.  If 1.5x = 0.04y, then the value of[y_xjis
y+X
aﬁ:l.5x=0.04y%,?ﬁ(y_szmm‘%l
y+x
730
a) 22
(a) P
73
by =2
(b) =
71
o) 2
© 77
(d) More than one of the above /B“CI'{ISB 79 TH
¥ sifes
(e) None of the above /394w # ¥ HIE el
Ans. (e) : 1.5x = 0.04y
x _0.04
y 15
x_ 4
y 150
x_2
y 75
Fiew LN § x =23 y= 150" ®
y+x
y-x 150-2
y+x 150+2
_uss
152
_37
38

43. f—0'204 x42 is equal to
0.07x3.4
f0.204 x42 &
0.07x3.4

(a) 0.06
(b) 0.6
(c) 6
(d) More than one of the above
3w 9 UF ¥ s
(e) None of the above /39w | q Fi TE

0.204x42

Ans. (€) 0.07x3.4
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44. If x% of y is 100 and y% of z is 200, then find

the relation between x and z.
Tl y T x% 100 T 3T z T y% 200 &, @ x
3T z & fier s A Wit

X

(a) z= 2

(b) z=2x

(c) z=4x

(d) More than one of the above /B“CI'{[)?B 79T
¥ sfas

(¢) None of the above /3T # ¥ FI3 Tal

Ans. (b) : 99 ¥ 9-

yx—— =100
100
2 Tl F 2 W O W
2y><m:200 ------- 1)
ESIREGIGIE
Zx—— =200 - (ii)

T (i) 3 (i) F AT B W

Y06 =100
2xy = zy
-2y
y

The height of an equilateral triangle is 10cm.
Its area is

T |HETg s &t sorg 109, . {1 gHeRT
ATHA B
(a) 30 cm® /30 =t T,

45.

W@ﬁﬂawm ﬁ a’
20 Y
3

100
= — g2
V3

Which of the following is a monomial?

frrafafaa § ¥ SiA-91 ThudT 7

(a) 4x°

(b) at6

(c) at6+c

(d) More than one of the above /B“CI'{[)?B 79T
¥ sfas

(e) None of the above /394w # ¥ HIE eI

Ans. (a) : fOFctl § T ™ 9w # 4x> TH WA

=S 21 3 faed (a) el &

47.

5

4

46.

Which of the following is used in metal
extraction?

g freepdor § frafafaa & @ feraart su=

ferar iTem 7

(a) Coke/i%

(b) Petroleum /ﬁ@ﬁ'&'ﬁr

(¢) Coal tar /Hd TR

(d) More than one of the above /B“CI'{[)?B 79T

T 31ferp

(e) None of the above /394w # ¥ HIE el
Ans.(a):%ﬁ%@@ﬁ@%%ﬁ@&ﬂﬁﬁﬂ%
Y § BIF F FAM KA ST G| Fb H T G
TR § UF TS FRG F ®9 § A1 81 6 ST
W 69 % ®9 H off g1 ¢ a0 W & Wy 5 79 I
Siege 9 & fmior & o @i @ T A S g
FIeh Pl F T &F ¢ T8 o G a1 R-hret TT FH

® 100, u;oamc@_ﬁ verd & fr ST 98% e e Bl 21 T8 HE
TR YE T § N oM T TgT FA A I FI
100, 100 d

© ﬁcm /ﬁ T & 48. The colored light that refracts most while
(d) g/lore than one of the above /@"{[’r’ﬁ 79 'Iéa;;llg; ihmug;l-{- a -g];;i;m is N

(e) None of the above /394w H ¥ HIE eI '{(111? I /zl?n

a) yellow
Ans. (¢) : A% THIg By FF qSTa & @ (b) violet /AT
frqe 5 s £a—10 (c) blue /Hrer
(d) More than one of the above /B“CI'{[)?B 79T
_20 ¥ arfers
V3 (e) None of the above /393w | q FE FE
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Ans. (b) : 9 Y39 TbT G B5T F SR oA § At
I8 Y WA T & <h THIYT fhuil & forvierd & e 21
T WA ueh T & Wl H W ST T F T
UGAAIh God ST q9T AT T o YehIST Sl 3Taa-ieh
ag FH B 2 BT § e W T e Tvafiid
B9 el Ti Jere ST O7 B g g § e S
a1 & gy o el 31t famea o wefdfa st
3 TEfE o T % TR & R 9ed &9 faEed

TeRid e 2
49.

The resistance of a conductor is directly
proportional to its

Tert =ITeTeR oAt WferTer AHTIATAT Brar 21
(a) area of cross-section
IGH Y- FE & & &
(b) density /3Th T H
(c) length /3T T=TE &
(d) More than one of the above
s & ¥ T o
(e) None of the above /39w | q FiE TE
Ans. (¢) : 5l =os Terd @1 oy 39 =i u9d 9
BB ORI % JaE § 3 B aTelt s S A9 g g1
fordt =t ward &1 wfowy (R) fr woR 9 wefyfa fear
ST 21

wfeRrer (R):%aﬁq

Sl R = =e ad & gl @ = faftte wfedy

[ = =Ters Tad i T SR

A = TTeish e 1 SIS I T G |
T H e 2 aras w AR SHe e % S
T 3T TS B F &% & FABAMIE el §
S SR e & T W et T8 e 2
50.

What is the main chemical component present
on the rubbing surface of a matchbox?

e st fesslt § wrex areft 9ag W dNE
T T Teeh &7 §72
(a) Potassium chlorate
T Feie
(b) Phosphorous /BT EhITH
(c) Graphite [ATES

(d) More than one of the above

Ans. (b) : TG & fesht ¥ Trea Al @@ | HNg
T (OEHE 9e& O BERRE a1 aiie e gam
FE H USST BT Bl oA HEHRY TH AR
wfafsharelicl e saoefiar uard @1 & =g =t it &
fesdl T TTET ST 8 A Seq= =N 3 T % HRoT el
HEh A # Al § divg qeiem wie % 9y
Tt Sfafeer § TeRar 8 e wRor 3 e e
I &l I Bl @ AR e @ el S Sedt 2

51.

Which of the following is suitable for alcoholic
beverages?

frafafaa & & SiF-91 Yemeiad 99 & fog

UG §7

(a) Methanol /R

(b) Hexenol /RFIATA

(¢) Ethanol /Tg=Tet

(d) More than one of the above

IEH § ° U ¥ A

(e) None of the above /394w H & HIE eI
Ans. (¢) : T fofet TR Tesblget (C,H;OH) & 21
59 7, "1, T a9 v oMfe § Iewfed feRam S
Tehdl 2| THH WE &I A61 399 gl 8| WIS &1 SYAnT
9 o T s % & § fohar smr @1 Steifeh qeeTer qen
AT e S Uewlgd W & &Y § 49 & fow
SFYIF W S &1 A H SEA (CH,0H) &1 38
FS Tehled a1 &S e off sed § s w8 34
AFY F Aol IMEAT § W AT @1 ATl T I
ferdte 81 % FH0 9 & fore Suge 2 8|
52.

The efficiency of a fuel is expressed in terms of
its
feret $orr it qAT —— &% Had # =R @
et B
(a) density /39 S
(b) calorific value /39 el HH
(c) volume /3Heh! AT
(d) More than one of the above
IE® § ° U § I
() None of the above /394w # ¥ HIE el

Ans. (b) : Tl S &t g I IWH bl T & Gadf
¥ oo fohen ST @1 i Lo fW ema @ eue et
TSR TEERE el F S FBR N Sel o FHAT AT
arfr St # uRafda S ¢ 98 39 U I qeI BEer

I H W U ¥ 21 TerT Y TR HT FOAT AT 3G AT b &Y F HOT SR
(e) None of the above St U R fo F @ W S At 81 Sue
39 & § e AE TeI WG F 3HE [ Tl el I Aedt B
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53. Food cans are coated with tin and not with zinc

because

WM & fgeal W T & a9 & &t e ot
Frelt &1 TR
(a) zinc is costlier than tin
teT, o &t qer & 7EW
(b) zinc has a higher melting point than tin
foT & g H ST FT TeiH A e 2
(c) zinc is more reactive than tin
o & qom § St sffshaeie 21
(d) More than one of the above
IEH § ° UE ¥ A
(e) None of the above /39w H ¥ HiE TE
Ans. (c) : @ & feai W s (i) & a9 feq o1g
A o T A & Hifs b o o g @ sruen
st wfafear e et 81 o T8 e § Iufem
el o emds gl % g iR e dieE @
I a1 Sediar S1gar WH F T SIge 9 St 2|
78 w0 ¢ f6 fo ug S sifufmarefiemr @w @9 %
FOT @M & e a1 a0 R/ Kid a9 fo ag A
A AGTE S 2|

54.

Which of the following is not a traditional
irrigation method?

frrafafaa & F sE-t ool fieng ugfa
& §?
(a) Moat system /&< JUTll
(b) Chain pump system /== U9 SUTTelt
(¢) Drip system /fgq uTrett
(d) More than one of the above /@"{[—r’ﬁ 79 ush
T sifere
() None of the above /394w # ¥ HIE el
Ans. (c) : = oel #1 FOW w7 F o [T # ufsan
21 fr 3y oRes T ey faftet e 3
1. aRafs fo=rg faferat
a. Gash JUTTelt
b. = g yomeht
¢. Tl TRl
d. W T e FTl
2. sy = somett
la. fgu fg=rg someh
b. fEgsE = yomer
I e g fou e yoreh R & giwRs fafy
T g

55. The number of sex chromosomes in a human

kidney cell is

TS T Y HRIVTRT B AT U e S

et 81

(a) one pair /Th SIS

(b) two pairs /& gt

(c) three pairs GG Trﬁ@T

(d) More than one of the above

3w ¥ UF ¥ s

() None of the above /394w H ¥ HIE el
Ans. (a) : T ¥ o frafor § wfee @9 A o
fef o FEem &1 AEEl § STHAR W T HiferE §
23 SISl A1 46 UTF B &1 S ¥ 22 S o <
Hfgen qu TeW # 9UE A | ek 233 e F [RE
e qg e I ¥ STErT-3Ter B4 &1 g foA
TR FET S @1 TR A A (xy) T AN F T (xx)
B €1 o ww g T fopd w1 iR # (ST
T W IR TH NG (xy) AT (xx) TR T S
4
56.

The hearing range of human ear is

U T et el U T §17

(a) 20 Hz to 20000 Hz /20 823 ¥ 20000 gt

(b) less than 20 Hz /20 & ¥ &Y

(c) more than 20000 Hz / 20000 E‘{T‘T@ e

(d) More than one of the above /@i?ﬁ 79w
T afes

() None of the above /394w # & HIE el

Ans. (a) : S TH THR H & (32 &) & o 5

aegel § FF 8§ I A B

S eafy @il # emgf 20 &9 @ FA A 2 I

I A T FF 1 2| AT b BE AR A G

hd 2

5 eafs @ i Sl 20 § 20000 &S F = B 8

S T A A FET AT &1 AMS F M 3 eafat

% T Thd &1 U A FH H g F W 20 ¥

20000 g2 # G ATl i d% B 81 20000 &S

§ FW AR Al e Wy s seerd 81 ame

% S S G o foIT Hagq s 7 & g

57.

Which of the following has the highest energy?
frafefae 8 @ frad Soemm St et 81

(a) Blue light /A e

(b) Red light /aTeT Y10

(¢) Yellow light /i@ SrehreT
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